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# include <stdio.h>
main ()
{ int a=0;

scanf ("sd", &a);

switch(a)

{ case 1: printf ("A");
case 2: printf ("B");
case 3: printf ("C"); break;
default: printf ("D");

}
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+4% (x>=40 && x<=54)+5% (x>=0 && x<=39);
switch( k)
{ case 1 : grade="A"; break;
case 2 : grade='B'; break;
case 3 : grade="'C'; break;
case 4 : grade="D"; break;
case 5 : grade="E"; break;
}
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# include <stdio.h>

main ()

{

}

int a=2,b=-1,8=2;

if (a<b) s=b;
if (b>0) s=0;
else s=s+1;

printf("$d\n",s);

ZRERTREEE
BRETHRRFEEREEESF, KT ESBEREHE.

0 W 0<<x<5 Bt

x+10 Y4 x<<0 A
y{
x2—3 Y4 x>5 A

# include <stdio.h>

main ()

{

/* EXPAANZEERE x My =/

/* B“Input x:” %/
. /x WA xWME x/
/* THEHERA iCFEATEMEM v WE RAET) =/
/* Bl <My ME x/
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3.5.1 WBEE4JER

% 3-1. [%]

# include <stdio.h>
main ()
{ char x="\0",y="\0",2z="\0",max="\0";

printf ("Input 3 letters:\n");

scanf ("t ck cE C", &%, &Y, &2);

max=x;

if (max<y) max=y;

if (max<z) max=2z;
printf("x=%c,y=%c,z=%c,max=%c\n", X, vy, z,max) ;

}
% 3-2. [%])

# include <stdio.h>
main ()

{ int num=0,place=0;

printf ("Input a integer (1~9999):");

scanf ("% d", &num) ;

if (num<=9999 && num>999) place=4;

if (num<=999 && num>99) place=3;

if (num<=99 && num>9) place=2;

if (num<=9 && num>=1) place=1;

if (place!=0)

printf("sd is $d digits\n",num,place);

}

%3] 3-3. [%&])

# include <stdio.h>
main ()
{ double numl=0,0,num2=0.0;

char s="\0";
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printf ("Enter a statement:");

scanf ("$1f%c% 1£f", gnuml, &8, &num?2) ;

switch(s)
{ case "+ ":printf ("% .2f%c% .2f=% .2f\n", numl, s, num2, numl+num?2) ; break;
case "- ":printf ("% .2f%c% .2f=% .2f\n", numl, s, num2, numl-num?2) ; break;

case '"* ":printf ("% .2f%c%.

N
I

% .2f\n",numl, s, num2, numl ¥ num2) ; break;
case "/':printf ("% .2f%c% .2f=% .2f\n",numl, s, hum2, numl/num2) ; break;

default: printf ("Input Error! \n");

}
43 3-4. (&)

# include <stdio.h>
main ()

{ int age=0;

printf ("Enter age:");

scanf ("% d", &age) ;

printf ("age:%d,",age);

switch (age)

{ case 2:
case 3: printf ("enter L class\n"); break;
case 4: printf ("enter M class\n"); break;
case 5:
case 6: printf ("enter H class\n"); break;

default: printf ("Input error! \n");

3.5.2 #EEBER

1. [%&]

# include <stdio.h>
main ()

{ char c="\0";

printf ("Please input a letter:\n");
scanf ("sc", &C);
if(c>="'a' && c<="z")

printf ("upper letter:%c\n",c-32);
else if(c>="0" && c<="9")

printf ("digit:%$d\n",c-"10");
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